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The ﬁ_gz_zres' in the margin indicate
. Jull marks for the questions.

Answer either in English or in Assamese.

1. Write the answers to the following
questions : {any seven) 1x7=7

wﬁmmqt‘rmwm_a'

v(i) Define thermodynamic process.

Sivlro afermr wiceel |
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(i) Give one example qf isoenthalpic
process.

TN e o it

(iii) Write the statement of 2nd law of -

' thermodynamics ini terms of entropy.
oo RN 3@ TEOR @FR S
Aol fordi | |
(iv)- Why does the dissociation of PCl;

decreases in presence of Cl, ?

CL3 Toififes PCl T R g+ 20 Rewe

(v) What is salt hydrolysis ?
RO QR AR e & g@e

(vi) Define isocheric process.

eSS afd kel o

(viij What happens when phenol is heated
with zinc-dust ?

forzs aIgs T e e Yug s &
932
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(viii) Write the IUPAC name of pinacolone.
R TUPAC a9 fami
. fix) What are ylides?
R @R e

() What happens when bromobutane

reacts with an active metal (Nq) in dry
ether ? ~

T &Y Na @ IR 10 VI RS
s RfEFn e & =0

bd) NO3, AICL, C,H NH,, FeCl, -
(select odd one out)

. NO;, Alc13, C2H5NH2, FeCls
(ReFpt caIeht aifds <)

(xi) CHF, CH,, CH? and CH, (select odd
one out) ° | ‘

CH, CH,, CHY W% &H, (Remfomt
&l 3 et R 1) o

2. Answer any four from the following
questions S . 2x4=8§

wﬁmmﬁmmwﬁm%@qw:

- (a) State the zeroth law of
thermodynamics.

wﬂ%ﬁmmmﬁm.l
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(b)

{c)

@

(e)

(9)

What is common ion effect ?

TS & w /e

Describe different. thermodynamic
processes.

it R Rfow iR Reca Frdt |

State the Le Chatelier’s principles.
= SIGRIRT & 3

What happens when sodium
benzoate is distilled with soda lime ?

W@Wﬁﬁ“i‘mﬁf@?mﬁﬁﬁ

| ﬁsw

What is benzyne mechanism ?
R fEaRfE fee

How can you prepare 3-oxapentane

~ (Diethyl ether) by the use of dry Ag,0

and alkyl hahde ?

o AT (SRR WR) S Ag,0

I GEIIRE (TG [T IR & W oge
PiRal? |
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(h) Phenol is acidic, why ?
e Wiy fe

- 3. Answer any three of the following :

5x3=15
R frwiTa ot Vor ehi Tew forat 8
(a) How can you covert alcohols from

1> to 2° and then 2° to 1* alcohols?

iR SR (TR R O (POIRR
o9 AIRNT GRS R o Al |

(b) How can you distinguish among 1°, 2°
- and 3°- alcohols by passing over
heated copper ?

w@wmemﬁ#ﬁﬁﬁs@ r,2 wv |
3 - @R Bt IR SR e

(c) Explain why 'vinyl chlorides are less
reactive whereas benzyl chlorides are
more reactive than alkyl halides ?

R S P

[ T4
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(d)

(e)

(9

What is Schotten-Baumann

. reaction ? How does phenol react

with acyl chloride and acetlc
anhydride ?

Wamﬁﬁﬁmﬁ?ﬁm’mﬁsma@iﬁ
FAIRT T qEHT GRS Fore R

TE|

" For adiabatic process, prove that
" Ty -1 = constant,

w%a&ma%ﬁm A 1.
TV 7 = =)

Discuss dlfferent factors that affect

ionisation of electrolyte ? _
RpReER aalieRr Ry sReERe
RIw =i =1

For a reversible thermodynamic
process show that dH = TdS +vdV

ARSI OIoHNNR efert B A1 e @
dH = TdS +Vay .

3 (Sem-3/CBCS) CHE HG/RC/G 6

4.

-

Answer any three :

Rz fofbe e <=1 ¢
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Standard enthalpy of combustion of
benzene is -3267 -0kJmol™!.

Standard enthalpy of formation of
CO,(g) and HZO(Z) are
-393-5kJmol™! and

~285-83kJmol". respectively.
Calculate the  standard enthalpy of

forma’uon of benzene.

(AT el W Ry
~3267-0kJmol™!. CO,(g) W%
H,0(1)3 emiat FRoidm meaifst aaiar
-393-5kJmol™! WIF

~-285-83kJmol™! I @AWY 2miq
oW GRS SN |

10x3=30

(o) Describe the. Joule-Thomson

experiment. Show that the. expansion

in this experiment is an 1soenthalp1c
process.

G- AR Il 3941 | «ﬂisﬁmﬁq
TGLTE I orgeat | '
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(p) What is a Carnot cycle? Taking an
ideal ‘gas as the working material | ' (e) Write the following reactions :
derive an exprgssion: of the efficiency ' ‘ (any four) _ 2v%x4=10
of a reversible Carnot cycle. | L fareie oiRee R m
. G v B2 wm o wRT Boitst G R : .
SRR T P . . (i) Pinacol-Pinacolone reaction
6 bert RPN (31 ) .o Pi-Preew Rt
oo i e s J ‘ '
, (i) Reimann-Tiemann reaction
. (c) State and explain Le Chatelier’s TS R .
principle. Describe the effect of ) )
change of concentration, pressure : (iii} Houben-Hoesch reaction
and temperature on the equilibrium ‘ =3 -z R
f tion. ‘ '
ot reaction . , (iv) Rosenmund reduction
.l GURER 39 TR 39 w1 Rifmme g e RERd
Wﬁe%‘ﬂmmmmw ‘ “cl ducti
v emmensen reduction
2foR Il hal @) '
e e
(@) Describe th.f’ applicatioris of solubility | () Cannizzaro reaction
product principle and common jon | chee &
effect in qualitative inorganic analysis. _ )
i Syl reaction of alkyl
e —— () What is an Sy )
o _ ™ W TSR 2ol W halides ? Explain why an optically
LAl ﬁmﬂ%. AR [aem 3 =11 active heloalkane undergoes Syl
. ' reaction to produce a racemic
3 (Sem-3/CBCS) CHE HG/RC/G 8 K | mixture.
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e C@W Syl ﬁﬁ- ' R ' (h) (i) How can you prepare 1°,2° and
| WW T R Syl RiFR wore <ot 3° alcohol from RMgX and
. @ ' o ' carbonyl compounds ? Give their
| ﬁa. ?Qﬁﬂ (RN R it A B mechanism also. 6
' (g) How can you prepare ? - 2x%5=10 RMgX SIs PR R 2]t 17, 2°
oy age PRt [ i 3 @eEs R ege TR -
_ () Methyl isocyanide from : ‘ ‘
chloromethane : _ (i) Discuss anti-Markovnikoff’s rule.
| | : 4
FINIT [/ & f p
MR Rz o A R
(ij) Biphenyl from chlorobenzene - a |
IR FIRAGTT
(iii) Methyl iodide from 2-oxobutane
2-SSHREH Rl Rz wiareizs
(iv) Ethanal from Ca-salt of fatty acid
@ aRCT-EEREm e ot NG
v) 2,4,6-trinitrophenol from
phenol o
e o[t 2,4,6 BTG Ry
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